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KKK 1 � a, b, c �¢ê, a 6= 0. e���g�§ 2ax2 + bx+ c = 0 3 [−1, 1] þk¢�, y²:

min{c, a+ c+ 1} ≤ max{|b− a+ 1|, |b+ a+−1|}

¿(½þãØ�ª�Ò¤á�, a, b, c ÷v�¿�^�.

KKK 2 Xã, 3� O �S�o>/ ABCD ¥, é�� AC,BD �pR�, l ÂDC �¥:�

M , L M,O,D n:��� DA,DC ©O�u E,F . y²: BE = BF .

KKK 3 ¦�����ê n, ¦��3 n �pØ�Ó��ê x1, x2, · · · , xn, ÷v

x2
1 + x2

2 + · · ·+ x2
n = 2017

KKK 4 �½�ê m ≥ 3, n ≥ 3. �8Ü

S =
{
(a, b)|a ∈ {1, 2, · · · ,m}, b ∈ {1, 2, · · · , n}

}
A � S �f8. eØ�3��ê x1, x2, x3, y1, y2, y3, ¦� x1 < x2 < x3, y1 < y2 < y3, �

(x1, y2), (x2, y1), (x2, y2), (x2, y3), (x3, y2) ∈ A

¦8Ü A �����ê����.


